Time Quantization Logic Timing Diagram (Count above binary 0)

Time step set to binary 2 (+1 = 3 clocks) Notice that the "Quantized clock" has both positive and negative phases timed.

for illustration.
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Time Quantization Logic Timing Diagram (Count equal binary 0)

Notice that the "Quantized clock" has both positive and negative phases timed.

Time step set to binary 0 (+1 = 1 clock)
for illustration.
Jam 0 Jam 0 Jam 0

to : ook

15
Master Clock |

U5 - Borrow

U7-A Q Out (Quantized Clock) \

U6-A Output

—

[ I
U6-C Output |_| |_| u_
H_

U6-D Output |_| |_|

]
|
l
U7-A /Q out :
i
T
l
l



